
 

 

 

1. In Section 1 of the test you will need to choose only one answer out of 3 or 4 options. If you don’t want to 

guess, please choose “I don’t know.’ This is a placement test so it’s best to avoid guessing. 

Example: 

There are still ______ citizens who feel unhappy about the changes made by the government. 

a. a little of 

b. quite many 

c. quite a few 

d. a great deal 

e. I don’t know 

(The correct answer is: c. quite a few.) 

2. In Section 2 you need to think of a word (only one word) which best fills the gaps in the text. Sometimes 

more than one answer is possible, but it is always a single word. 

Example: 

Visitors can expect to pay about _____ thousand pounds a day. 

(The correct options could be either ‘ a ’ or ‘ one ’.) 

3. In Section 3 , you get a gapped text describing accompanying graphs. You need to choose the best option 

for the gap. All options are grammatically possible but only one is adequate in this context. 

Example: 

The table _____ average disposable income in three different countries in 2017. 

a. presents 

b. shows us 

c. gives you 

(All answers are grammatically possible but answer A is preferred stylistically.) 

4. In Section 4 you need to choose all the correct options out of a choice of four. The more correct answers 

you are able to identify, the higher will be your score. The number of correct options varies from one 

to three. 

Example: 

_______ not ideal, this attitude is not entirely destructive. 

a. Although 

b. Even though 

c. However 

d. Albeit 

(The correct answers are a), b) and d). If you choose only one, you will get only one point. If you choose all three, 

you will get three points.) 
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